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A shop-keeper marks gan-a#tisle, bought by him, at 25% above the cost price
and allows a discDun lle selling it. What percentage of profit he gets?

U ghIHaR 391 G&] I ANTd Hed I 25% it IR 3{fbd Bl
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A person sold two shirts each M-A.D//upees. On one he gaingd 10% and on
the other he lost 60%. What is the overall profit or loss percentage?

U A Gl R U YD Bl 440 300 T 94| U IR 3 10% 1Y 3R G W
60% dfl BT B3 | THY SHY T BTH Ufd=Id &1 g2 I

a) 33%
b) 133%
C) 33%
d) ' 33%
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By selling an article at@of marked price, there
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is a profit of what is the ratio of marked
o S\Q/f price and cost price. —
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A profi (@) d ¥hen a mobile phone is

I AeEd B TP &I X 9 o= S df 12% h1 o9
Il gfe F Q W o9 SU d 4% <kl BT Bt 2 |

(3)6:7 (4) 3:1




@%Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 |
A shopkeeper sold his goods at half thé list price
and thus lost 20%. If he had sold on the listed
price, his gain percentage would be
Ueh IohMER 1 31Ol A =l Hod | 37 Jod I o=
3N 39 TR 3 ‘cﬁmﬁg‘s‘ | 399 A g g W
S BId1 i SAPAeH k1 gfderd fehaen grar ?

(1) 60 % (2) 20 % 38) 72 % (4) 35 %
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Nisha bought a number of oranges at 2 for a rupee
and an equal number at 3 for a rupee. To make a

profit of 20% she should sell a dozen for
frem = o Fow 7 2 % feue @ Hg g AR I
&l R T TUCH 3 & feda 9 @= Y HHM

& fau 39 s <59 ¥R forad v § =4 =feq ?
(1)T 6 (2)T 8 B3)T10 (@) T 12
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By selling 12 oranges for ¥ 60, a man loses 25%.
The number of oranges he has to sell for ¥ 100,

q } 51 =Tl 2
[ foha 9] d= =1f8u?
(4) 15

(1) 10 (2) 11 (3
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If I would have purchased 11 articles for ¥ 10 and
sold all the articles at the rate of 10 for ¥ 11, the

profit per ceni would have been :
Bl @@ T H FHI I Y d@o
& 10 ohi S F-o=dl, al oY

(1) 10% (2) 11% ) 21% (4) 100%
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A man purchases some oranges at the rate of 3

Qi le
7 x 4o m r (/@l for(F 40yand the same quantity at 5 for ¥ 60. If he

1064 =
sellsall the oranges at the rate of 3 for ¥ 50, find
[8 = 3><60 f '313 @ his gain or loss percent (to the nearest integer).
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A dealer sold a bicycle at a profit of 10%. Had he
bought the bicycle at 10% less price and sold it at
a price ¥ 60 more, he would have gained 25%. The
cost price of the bicycle was

Ueh faghdl 9 T TEfed 10% & o9 ) =96 I I8
qrsfehel 10% %H HiFd T THEdl 3 39 60 TIT 3y
& W d=dl dl 39 25% F1 AT BA1l WEfhd H AN
g1 o

(1) T2400

(2)T2600 (3)T 2000 (4)T2200
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Renu bought an article for ¥ 1,240 and sold it at
a loss of 25%. With this amount, she bought
another article and sold it at a gain of 40%. Her
overall percentage profit is :

A TF 9 T 1,240 ° TR R W 25% TR W 99
feam su fr 9 ST SR o =l S SH 40%
Y W o9 @ { # Fa et fha gfaea @y
ga?

(1) 12 2) 6% (3) 5 (4) 15
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A trader sells two bullocks for ¥ 8,400 each,
neither losing nor gaining in total. If he sold one
of the bullocks at a gain of 20%, the other is sold
at a loss of

Toh SAGN &1 9, T9H7 8,400 T 9=l & 3R 37 |

T Y FHAM €, 7 B Tedl 81 9BIER, 9% 399 379 9
TH H 20% 9 W 991 T, @ W I fHadt B W

EELERIP

2 2
(1) 20% (2) 185% (3) 147% (4) 21%
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A milkman mixes water with milk and sells the
mixture at the cost price of pure milk. The vol-
ume of water in litres to be mixed with each litre
of milk to get a 25% profit is

O ool 39 | U fgerar € IR fagv @l gs gy &
ANTd Jod T o=l 21 9fd <fiet g¢ o fhad et art &t
A o ST =nfey 99 39 25% @19 38l ?

L 1 1L
(1) @) 7 317

(4) cannot be calculated without knowing the cost
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3
A shopkeeper sold 2 part of an article at 20%

gain and remaining on its cost price. W?hat is
his actual gain in this transction ?

3
e SRR 5 Teh o] ol 2 T 20% T T a1 3

I A IHEH AN oI W o9 4 9KIER 3@ @ 9
T 391 drider oy fehar @I?
(1) 10% (2) 15% (3) 20% (4) 25%
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A merchant has 1000 kg sugar, part of which sells
at 8% protit and the rest at 18% profit. He gain
14% on the whole. The quantity sold at 8% profit
IS :

T AR o 9@ 1000 TR = B sud 9 e femm
IE 8% T W AT 9N 18% ol W s=al &1 | T o
S 14% o9 Bl € Ol 8% oy W femaHt =i+ s=n?
(1) 560 kg. / fFm. (2) 600 kg. / fm.

(3) 640 kg. / fam. (4) 400 kg. / fFm.
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Two types of tea costing ¥ 180 per kg and ¥ 280
per kg should be mixed in the ratio so that the
mixture obtained, sold at ¥ 320 per kg to earn a
profit of 20% is

F 180 ufa fevm 3 F 280 ufa ferm v a1 f forey
&1 =9 fha U | fien < we fo g fago & T
320 3fd fm &t R W o= W 20% 1 o1y 31fsid &l ?
(1) 3:13 (2) 1:13 (3)4:13 (4) 2:13
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To gain 10% on selling sample milk at the cost
price of pure milk, the quantity of water to be
mixed with 50 kg. of pure milk is

IS 9 & HI oI T TAYA-3Y d9Hh 10% 9 I
& & faw 50 for 3§ 9 # art &t foraet @ i
B 2

(1) 2.5 Kg. / T (2) 5 Kg. / T

(3) 7.5 Kg. / . (4) 10 Kg. / T
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A man buys two chairs in total cost of ¥ 900. One

-+
is sold at 5 of cost price and other at 2 of cost

price. In this transaction, there is profit of ¥ 90.
What is cost price of chair whose price is less

T TEHT < HGAT A T 900 HI AN H T 81 Th
I ITH! AN & %Wﬁ?{eﬁaﬁwﬁwﬁ itﬂ

99 L 39 FHol A F 3H AT | T 90 TN ATH BT
21 HH M Tl HH H NG 2

(1) 360 (2)I400 (3)%T420 (4)T 300
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The marked price of an article is 20% more than its cost price. If a shopkeeper
make a 40% discount on that item and sold it at Rs. 2592. What is the marked
price of the item?

Uh 9% @1 Siidhd Hed 39 ol e Y 20% 3P g | dlc DIg ghHaR 39 axd
TR 40% I ¥ adl g AR I 2592 3L H &9dl g | 9¥d DI 3ifdbd G 1 52

a) 's. 4020
b) . 4000
C) s. 4320

d) s. 3600




